
ESTRUCTURA : GRUPO MANUBRIO	
 

GRUPO MANUBRIO 

  

 

Rating: Not Rated Yet 
Price: 
Variant price modifier: 

Base price with tax: 

Price with discount: 

Salesprice with discount: 

Sales price: 

Sales price without tax: 

Discount: 

Tax amount: 

Ask a question about this product  

 

Description 

Ref. Título Código

1 MANUBRIO 69-32002

2 ESPEJO RETROVISOR IZQUIERDO 69-36050

3 ESPEJO RETROVISOR DERECHO 69-36053

4 CONJUNTO MANILLAR DERECHO 69-27159

5 TORNILLO M5X20 69-38020

6 CABLE ACELERADOR 69-17121

7 CABLE EMBRAGUE 69-32024

8 CABLE CEBADOR 69-32032

9 AGARRE CABLE CEBADOR 69-32019

10 PUñO ACELERADOR 69-32020

11 PUñO IZQUIERDO 69-32018

12 SOPORTE ESPEJO 69-27154

13 SOPORTE PALANCA IZQUIERDA DE EMBRAGUE 69-27153

14 TORNILLO DE AJUSTE 69-27156

15 ROSCA DE AJUSTE 69-27155

16 PALANCA DE EMBRAGUE 69-27152

17 TORNILLO M6X22 69-38014-4

18 TUERCA M6 69-38034-2

                        1 / 2

https://cprrepuestos.com.ar/images/stories/virtuemart/product/grupo manubrio43.png


ESTRUCTURA : GRUPO MANUBRIO	
 

Ref. Título Código

19 INTERRUPTORES MANILLAR IZQUIERDO (SUP.) 69-27104

20 GUIA CABLE CEBADOR 69-27226

21 ARANDELA GROWER 6 69-38046

22 TORNILLO ST2.9X10 69-38031-3

23 ARANDELA PLANA 10.5 69-38045-3

24 ARANDELA CERRADURA 10 69-38049

25 PALANCA CEBADOR 69-27146

26 ARANDELA 6 69-38046-1

27 TORNILLO M6X10 69-38020-1

28 INTERRUPTORES MANILLAR IZQUIERDO (INF.) 69-27140

29 CONJUNTO MANILLAR IZQUIERDO 69-27139

30 CONJUNTO PALANCA DE EMBRAGUE 69-27151

 

 

 

 

 

 

 

 

Powered by TCPDF (www.tcpdf.org)

                        2 / 2

http://www.tcpdf.org

